[leneHune Ha
NEeCATUYHYIO Ap0obb



12,3; 9,15; 0,33; 27,3; 6,21

[pounTanTe ymcna.
KaXxgoe n3 aTux vmcen
pasgenute Ha 0,03; 0,3; 3;
0,1; 0,01.



3,213 101 (0,24 | /71 |7,631,0,006| 19 | 0,28
5,7:0,3 0,2x14

0,06 x 0,1 76,31 : 10
71:0,1 32,13 x0,1

0,6 x 0,4 48,48 : 0,48







Ecnn Bbl pelimTe npaBuabHO 3TU
NMPUMEPDI, TO Y3HAaETE MacCy OAHOMO
mKekdpyTa B Kr, €ero AJsIMHY B CM U

AVAMeTp nnojaa B M

745:05-11,3:0,1 =

(kr)
144 :09 + 370x 0,2 = (cM)
0,123 : 0,3 + 0,09 = (M)
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NO 1459 (B, )

(z-1,2):06=21,1 35m+m=9,9
2-12=211x06 450 =99

z—1,2=12,66 _ :
z=12,66 + 1,2 m=9,9:45

z = 13,86 m= 2,2

OtBeT: z = 13,86 OTBeT' m = 2.2
. !/
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B 2,4 pa3a
> YyeM —

Ha 2,52 M

> yeMm

NQ 1462

2,4X —Xx = 2,52

1,4x = 2,52

Xx=2,52:14

Xx=1.8

1,8 (M) — poCT KeHrypy

1,8x2,4=4,32(M)-—
POCT >Xupada.

OtBeT: 1,8 M; 4,32 M



NO 1463
4,6 : 0,8 = 5,75 (KkM/4) — ckOpOCTb
coOnmxenus.
X+ 13x=5,75
2,3x = 5,75
Xx=25,75:2,3
X = 2,5 (KM/4) — CKOpPOCTb OAHOr0 nelLuexoAaa.

2,5x1,3 = 3,25 (kM/4) — cKOpOCTb BTOPOro
newuexozaa.

OTBeT: 2,5 KM/Y; 3,25 KM/\u.



JloMallHee 3aaaHune

N© 1491
NO 1492 (6)



CaMocTosTenbHas paboTa

B—1 )
2622 : 6,9 = 2793 : 57 =
16,45 : 4,7 = 17,02 : 3,7 =
1856:0,64 = 1674 :0,62 =

1,056 : 0,032 = 1,332:0,036 =
4,321 : 0,01 = 9,561 : 0,01 =



